
        
0x0000 0123

      

        
0x0012 3abc

      

        
0xffff ffff

      

        
 stack limit

        

        Smallest valid address.    
        Any smaller than this and you get a stack overflow.    
        

      

        
stack pointer

        

        Current location    
        

      

          
The stack is like stalactites

        

        
stack bottom

        

        Largest valid adress.    
        Initial stack pointer value.    
      

        
Push

      

        
Pop

      


